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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð >na 
Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 Series SGN  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

   
 

 

_moQ>a A{^`m§{ÌH$s 
(g¡ÕmpÝVH$) 

AUTO ENGINEERING 

(Theory) 

{ZYm©[aV g_` : 2
2

1
 KÊQ>o A{YH$V_ A§H$ : 50 

Time allowed : 2
2

1
 hours Maximum Marks : 50 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 7 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na {bI| & 
 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >20 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 7 printed pages.  

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 20 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e :  
(i) g^r àíZm| H$m CÎma XoZm A{Zdm`© h¡ & 
(ii) àíZ g§»`m 1 go 5  VH$ (g_yh – H$) ~hþ{dH$ënr` (_ëQ>rnb Àdm°Bg) Ho$ àíZ h¢ VWm 

àË`oH$ H$m EH$ A§H$ h¡ & 
(iii) àíZ g§»`m 6 go 11 VH$ (g_yh – I) g§{jßV CÎma Ho$ àíZ h¢ VWm àË`oH$ Ho$ Xmo A§H$  

h¢ & 
(iv) àíZ g§»`m 12 go 17 VH$ (g_yh – J) ^r g§{jßV CÎma Ho$ àíZ h¢ VWm àË`oH$ Ho$ VrZ 

A§H$ h¢ & 
(v) àíZ g§»`m 18 go 20 VH$ (g_yh – K) {dñV¥V CÎma Ho$ àíZ h¢ VWm àË`oH$ Ho$ nm±M A§H$  

h¢ & 
Gerenal Instructions :    

(i) All questions are compulsory. 

(ii) Questions no. 1 to 5 (Group – A) are Multiple Choice Questions (MCQs) 

each carrying one mark. 

(iii) Questions no. 6 to 11 (Group – B) are short answer questions each 

carrying two marks. 

(iv) Questions no. 12 to 17 (Group – C) are also short answer questions each 

carrying three marks. 

(v) Questions no. 18 to 20 (Group – D) are long answer questions each 

carrying five marks. 

g_yh>-H$ 

GROUP-A 

1. ‘àmonoba emµâQ>>’ R>mog Ho$ ~Om` Z{bH$mH$ma (Q>çy~ba) ~Zr hmoVr h¡, Š`m|{H$ 

(H$) `h H$_Omoa hmoVr h¡  

(I) `h A{YH$ _µO~yV hmoVr h¡ 

(J) BgH$m g¡J H$_ hmoVm h¡ 

(K) Cn`w©º$ _| go Hw$N> ^r Zht hmoVm h¡ 

A ‘Propeller Shaft’ is tubular instead of solid, because 

(a) it is weaker 

(b) it is more rigid 

(c) its sag is smaller 

(d) nothing happens from the above cited version 
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2. H$ma Ho$ ‘_¡ZwAb ñQ>r`[a¨J’ Ho$ {bE ‘ñQ>r`[a¨J AZwnmV’ bJ^J hmoVm h¡ 

(H$) 5 

(I) 15 

(J) 50 

(K) Cn ẁ©º$ _| go H$moB© Zht 

The ‘Steering Ratio’ for ‘Manual Steering’ of a car is approximately  

(a) 5 

(b) 15 

(c) 50 

(d) None of the above 

 

 

3. ‘Q>m°aeZ ~ma’ H$m Xÿgam Zm_ h¡ 

(H$) ñQ>o{~bmBµOa ~ma 

(I) ñQ´>Q> am°S> 

(J) n¡ZhmS>© am°S> 

(K) ao{S>`g am°S>> 

Another name for a ‘Torsion Bar’ is  

(a) Stabilizer Bar 

(b) Strut Rod 

(c) Panhard Rod 

(d) Radius Rod 
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4. ‘Am_}Ma dmB§qS>J’ H$m H$moB© ^r ‘em°Q>© g{H©$Q>’ Q>oñQ> {H$`m Om gH$Vm h¡ 

(H$) _ëQ>r_rQ>a Ho$ Ûmam 

(I) J«mCba Ho$ Ûmam 

(J) dmoëQ>_rQ>a Ho$ Ûmam 

(K) Cn ẁ©º$ _| go H$moB© Zht 

Any ‘short circuit’ in the ‘armature winding’ may be tested with a 

(a) Multimeter 

(b) Growler 

(c) Voltmeter 

(d) None of the above 

 

5. ‘Am°Q>mo_mo{Q>d ñQ>m{Q>ªJ _moQ>a|’ hmoVr h¢ 

(H$) grarµO dmCÝS>> 

(I) grarµO eÝQ> dmCÝS>> 

(J) eÝQ> dmCÝS>> 

(K) (H$) Am¡a (I) XmoZm| 

‘Automotive Starting Motors’ are 

(a) Series Wound 

(b) Series Shunt Wound 

(c) Shunt Wound 

(d) Both (a) and (b)  
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g_yh>-I 

GROUP-B 

6. EH$ ‘aoVr’ (µ\$mBb) H$mo hWm¡‹S>o go MmoQ> Š`m| Zht _maZr Mm{hE ? 

Why should a ‘File’ be never hammered ? 

7. B§OZ H$s ‘Hy$qbJ’ Š`m| H$s OmVr h¡ ? 

Why is the ‘Cooling’ of Engine done ? 

8. ‘[a`a EŠgb’ H$m Š`m H$m ©̀ h¡ ? 

What is the function of ‘Rear Axle’ ? 

9. ‘\«$ÝQ> EŠgb’ VWm ‘ñQ>~ EŠgb’ _| Š`m AÝVa h¡ ? 

What is the difference between ‘Front Axle’ and ‘Stub Axle’ ? 

10. ‘gñn|eZ àUmbr’ Ho$ Š`m-Š`m H$m`© hmoVo h¢ ? 

What are the functions of ‘Suspension System’ ? 

11. ‘S´>mBqdJ bmBgoÝg’ Ho$ {df` H$mo ‘_moQ>a ìhrH$b EoŠQ>’ Ho$ {H$g AÜ`m` _| Xem©`m J`m h¡ ? 

In which chapter of the ‘Motor Vehicle Act’ is the topic of ‘Driving 

Licence’ dealt with ? 

 

g_yh>-J 

GROUP-C 

12. ‘ñn¡Za’ {H$VZo àH$ma Ho$ hmoVo h¢ ? CZHo$ Zm_ {b{IE & 
What are the types of ‘Spanners’ ? Write their names. 

13. Am°Q>mo_mo~mBb Jm{‹S>`m| _| ‘bw~«rHo$eZ’ H$aZo H$m Š`m CÔoí` h¡ ? 
What is the purpose of ‘Lubrication’ in automobile vehicles ? 

14. ‘E`a Hy$ëS> B§OZ’ Ho$ bm^ VWm hm{Z`m± ~VmBE & 
Write the advantages and disadvantages of ‘Air Cooled Engines’. 
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15. ‘`y{Zdg©b Ádm°BÝQ>’ H$m EH$ ñdÀN> {MÌ ~ZmH$a BgHo$ _w»` ^mJm| Ho$ Zm_ {b{IE & 
Make a neat sketch of ‘Universal Joint’ and write the names of its main 

parts. 

16. ‘H¡$ñQ>a’ Š`m hmoVm h¡ ? g§jon _| dU©Z H$s{OE & 

What is a ‘Caster’ ? Describe in brief. 

17. ‘\«o$_’ {H$VZo àH$ma Ho$ hmoVo h¢ ? {H$gr EH$ àH$ma Ho$ \«o$_ H$m ñdÀN> {MÌ ~ZmH$a BgHo$ 

_w»` ^mJm| Ho$ Zm_ {b{IE & 

What are the types of ‘Frames’ ? Make a neat sketch of any one type of 

frame and write the names of its main parts. 

 

g_yh>-K 

GROUP-D 

18. ‘N>o{Z`m±’ {H$VZo àH$ma H$s hmoVr h¢ ? CZHo$ Zm_ {b{IE & 

AWdm 

 ‘{Q²>dñQ> {S´>b’ H$m EH$ ñdÀN> {MÌ ~ZmH$a BgHo$ _w»` ^mJm| Ho$ Zm_ {b{IE & 
What are the types of ‘Chisels’ ? Write their names. 

OR 

Make a neat sketch of ‘Twist Drill’ and write the names of its main parts. 

19. ‘~¡Q>ar’ _| H$m¡Z-H$m¡Z gr naoem{Z`m± hmoVr h¢ ? CZHo$ Zm_ {b{IE & 

AWdm 

 {H$gr ‘~¡Q>ar’ H$s j_Vm {H$Z-{H$Z {~ÝXþAm| (nhbwAm|) na {Z^©a H$aVr h¡ ? g§jon _|  

~VmBE & 

What are the problems that occur in a ‘Battery’ ? Write their names. 

OR 

On what points does the capacity of any ‘Battery’ depend ? Explain in 

brief. 
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20. ‘àmW{_H$ g‹S>H$ gmdYm{Z`m| (H$m¡ebm|)’ Ho$ ~mao _| {dñVmanyd©H$ dU©Z H$s{OE & 

 AWdm 

 {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ‘Q´>¡{µ\$H$ {M•’ ~ZmBE : 

(H$) Jm‹S>r nmH©$ H$aZm _Zm h¡ (Zmo nm{Hª$J) 

(I) Mm¡amho (H«$m°g-amoS²>g) 

(J) J{V gr_m (ñnrS> {b{_Q>) 

Describe in detail about the ‘Basic Road Manoeuvres’. 

 OR 

Draw the ‘Traffic signs’ for any two of the following : 

(a) No Parking 

(b) Crossroads 

(c) Speed Limit 
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